Supporting and levelling components

@W@H Adjustable feet, sanitizable

(base in stainless steel)

Type 1

Type 1

Spindle measures in mm Spindle and base in stainless steel AlSI 304

Black Blue Ral 5005 Max
ad A H  Wrench anti-slip pad  [ENIGRIELMN static load

Code Code Code (N)
M12x1,75 110 70 17 114/83802  114/85874  114/88141 15000
M14x2 148 108 12 114/83803  114/85875  114/88142
102 58 13 114/83804  114/85876  114/88143
M16x2 163 119 13 114/83805  114/85877  114/83144
189 145 13 114/83806  114/85878  114/88145
245 201 13 114/83807  114/85879  114/88146
M18x2,5 201 156 15 114/83808  114/85880  114/88147
133 89 17 114/87337  114/87338  114/88148
151 107 17 114/83809  114/85881  114/88149
V20K 5 180 136 17 114/83810  114/85882  114/88150
201 157 17 114/83811  114/85883  114/88151 20000
Base .material: Intemal part made of reinforc_edl polyamide; external 234 190 17 114/83812  114/85884 11488152
Wz 0 twmn s wes
Box quantity: 8 pieces. ' 139 Q0 13 114/83814  114/85886  114/88154
Features: Co-moulded anti-slip pad allows a pen‘ect adherence with M24x3 Z? 12; g m;:gg}: ”j;gg::; Hi;:g]:g
steel base. Consequent absence of internal cavities makes foot extremely
cleanable. The threaded insert guarantees the protection of the 250 201 13 114/83817  114/85889  114/88157
spindle thread. Feet with M12 spindle diameter are supplied with M30x35 74 125 13 114783818 114/85890  114/88158
hexagonal adjustment for 17 mm. wrench. o234 185 13 114/83819  114/85891  114/88159
Washers UNI 6592-69 - Box quantity: 24 pieces. Nuts UNI 5588-65 - Box quantity: 24 pieces.
oM M12|M14 [ M16 [ M20 [ M24 | M30 . od M12[ M14]M16]M20 | M24 | M30
OE <l [Smm 25[25[ 3 [ 3 [ 4[4 5 Smm 1011 [13 [ 16 [ 19 [ 24
gAmm 24 | 28 | 30 [ 37 | 44 | 56 * |Ch.mm 19 [ 22 | 24 | 30 | 36 | 46
%L Stainless steel codes| 7287 17288 | 7291[7292|7294|7296 Stainless steel codes| 7273| 7274[7277|7278[7280|7282
On request

« Spindles with: Sunk hexagon head ¢ second wrench seat head ¢ hexagon wrench seat  threads with other pitches and lengths e stainless steel AlSI 316.
« Box quantity: Not standard.
« Assembling of: Nuts e washers.

T
ARRRRERVERR RN

Section C

W Type 2

Spindle measures in mm Spindle and base in stainless steel AlSI 304

Wrench  Wrench Black Blue Ral 5005 Max
ad A H F E G EINESIE  anti-slip pad  ETRGRIINELMN  static load

! 2 Code Code Code (N)
M16:2 200 159 73 39 60 22 12 114/88008  114/88010  114/88160
260 220 100 78 100 22 12 114/88009  114/88011  114/88161
M20K2 5 200 159 73 39 60 25 13 114/85164  114/85892  114/88162 20000
' 260 220 100 78 100 25 13 114/85165  114/85893  114/88163
M2433 200 159 73 39 60 30 17 114788012  114/88014  114/88164
260 220 100 78 100 30 17 114/88013  114/88015  114/88165

teCom

Technology Components




Supporting and levelling components

Adjustable feet, sanitizable
(base in stainless steel)
Type 1

Spindle measures in mm  Spindle and base in stainless steel AISI 304

geve!

o 75 part. 108

Black Blue Ral 5005 [
ad A H  Wrench IEWSINELE anti-slip pad  ENGIMELMN static load
Code Code Code (N)
M12x1,75 109 70 17 108/83540  108/85894 108 /88166 17000
M14x2 148 108 12 108/83541 108/85895  108/88167
102 58 13 108/83542 108/858%96  108/88168
V162 163 119 13 108/83543  108/85897  108/88169
189 145 13 108/83544  108/85898  108/88170
245 201 13 108/83545  108/85899  108/88171
M18x2,5 201 157 15 108/83546  108/85900  108/88172
135 89 17  108/87335 108/87336  108/88173
153 107 17 108/83547  108/85901  108/88174
182 136 17  108/83548  108/85902  108/88175
s 23157 17 108/83549  108/85303  108/88176 o Base material: Internal part made of reinforced polyamide; external
236190 17 108/83550  108/85904  108/88177 covering made of stainless steel AISI 304; anti-slip pad made of ther-
284 238 17  108/83551 108/85905 108/88178 moplastic rubber 68 Shore black, white or blue Ral 5005 colour.
139 90 19  108/83552  108/85906  108/88179 Box quantity: 8 pieces.
M24x3 176 12719 108/83553  108/85307 ~ 108/88180 Features: Co-moulded anti-slip pad allows a perfect adherence with
211162 19 108/83554  108/85908  108/88181 steel base. Consequent absence of internal cavities makes foot extremely
250 201 19 108/83555  108/85909  108/88182 cleanable. The threaded insert guarantees the protection of the
174 125 24 108/83556  108/85910  108/83183 spindle thread. Feet with M12 spindle diameter are supplied with
MO 93 qgs 24 108/835ST  108/85911  108/88184 hexagonal adjustment for 17 mm. wrench.
Washers UNI 6592-69 - Box quantity: 24 pieces. Nuts UNI 5588-65 - Box quantity: 24 pieces.
oM M12[M14[M16 [M20 [ M24 [ M30 . od M12] M14]M16 [ M20 [ M24 ] M30
if, Smm 25[25]1 3 [ 3 |44 5 Smm 10111316 [ 19 [ 24
gAmm 24 | 28 | 30 | 37 | 44 | 56 * [Ch.mm 19 | 22 | 24 | 30 | 36 | 46
0 Stainless steel codes| 7287 [7288 | 7291 (72927294 (7296 Stainless steel codes| 7273|7274[7277| 7278|7280 (7282
=

On request

« Spindles with: Sunk hexagon head e second wrench seat head e hexagon wrench seat e threads with other pitches and lengths e stainless steel AlSI 316.

« Box quantity: Not standard.
« Assembling of: Nuts e washers.

Type 2

Section C

.j
@

Spindle measures in mm

o A H : : G Wrench  Wrench

Spindle and base in stainless steel AlSI 304

Blue Ral 5005
anti-slip pad

Max
static load

1 2
Code (N)

M16:2 200 159 73 39 60 22 12 108 /88016 108 /88018 108 / 88185
260 220 100 78 100 22 12 108 /88017 108/88019 108 /88186

M0 5 200 159 73 39 60 25 13 108 /84134 108 /85912 108 /88187 24000
'~ 260 220 100 78 100 25 13 108 /84190 108 /85913 108 /88188
M43 200 159 73 39 60 30 17 108 /88020 108 /88022 108 /88189
260 220 100 78 100 30 17 108 /88021 108 /88023 108 /88190

teCom

Technology Components




Supporting and levelling components

@W@H Adjustable feet, sanitizable

(base in stainless steel)

part. 103 © 95

Type 1

Spindle measures in mm Spindle and base in stainless steel AISI 304

Black Blue Ral 5005 Max
ad A H  Wrench BERIEIIVIELE anti-slip pad EINGIECMM static load
Code Code Code (N)

Type 1

M12x1,75 109 0 17 103/83043  103/85854  103/88191 17000
M14x2 148 108 12 103/83052  103/83637  103/88192

102 58 13 103/83053  103/85856  103/88193
M6 163 119 13 103/83054  103/83651  103/88194

189 145 13 103/83055  103/85858  103/88195

245 201 13 103/83056  103/85859  103/88196
M18x25 201 157 15 103/83057  103/85860  103/88197
135 89 17 103/87339  103/87340  103/88198

153 107 17 103/83058 103/85861  103/88199
182 136 17 103/83059 103/83627  103/88200

M5 203 157 17 103/83060 103/85862  103/88201 2100
26 190 17 103/83061 103/85863  103/88202

284 238 17 103/83062  103/85864 103 /88203
139 0 19 103/83063  103/85865  103/88204
176 127 19 103/83064  103/85866  103/88205

Base material: Internal part made of reinforced polyamide; external covering made of stainless steel
AISI 304; anti-slip pad made of thermoplastic rubber 68 Shore black, white or blue Ral 5005 colour. — M24x3 M 18 19 (03/83065  103/85867 103/ 88206

E°th“a’_‘tc'ty:8pl'jcjs' o oad (et adh st b 250 201 19 103/83066  103/85868  103/88207
eatures: Co-moulded anti-s IP paa allows a per ect adnerence with steel base. 174 125 24 103 /83067 103/ 85869 103/ 88208

Consequent absence of internal cavities makes foot extremely cleanable. The M30x3,5 230 185 24 103/83068  103/85870  103/88209

threaded insert guarantees the protection of the spindle thread. Feet with M12
spindle diameter are supplied with hexagonal adjustment for 17 mm. wrench.

Washers UNI 6592-69 - Box quantity: 24 pieces. Nuts UNI 5588-65 - Box quantity: 24 pieces.

oM M12]M14 [ M16 | M20 | M24 ] M30 _T [ed M12[ M14] M16 [ M20 | M24 ] M30
())2l gl [smm 25[25[ 3 [ 3 [ 4 | 4 O)32l5| [smm 10 [ 11 [ 13 [ 16 | 19 | 24
gAmm 24 | 28 [ 30 | 37 | 44 | 56 * [ch.mm 19 |22 | 24 | 30 | 36 | 46
24
T

Stainless steel codes| 7287 | 7288 | 7291|7292 | 7294|7296 Stainless steel codes| 7273| 7274|7277|7278(72807282

On request
« Spindles with: Sunk hexagon head ¢ second wrench seat head e hexagon wrench seat e threads with other pitches and lengths e stainless steel AlSI 316.
« Box quantity: Not standard.
« Assembling of: Nuts e washers.

13

Max
—

ReAeAeAeAaed)
DI

AN

Section B

Wrench 2

Section C

26

Type 2

Spindle measures in mm Spindle and base in stainless steel AISI 304

weench wiench RS Blue Ral 5005 E:
2d A H F E G anti-slip pad EEINESITERE anti-slip pad  ISENIQED]

1 2 Code Code Code (N)
M16:0 200 159 73 39 60 22 12 103/88024  103/88026  103/88210
260 220 100 78 100 22 12 103/88025  103/88027  103/88211
M20K2 5 200 159 73 39 60 25 13 103/83465  103/85872  103/88212 27000
" 260 220 100 78 100 25 13 103/84191  103/85873  103/88213
M43 200 159 73 39 60 30 17 103/88028  103/88030  103/88214
260 220 100 78 100 30 17 103/88029  103/88031  103/88215

teCom

Technology Components




Supporting and levelling components

L ]

Adjustable feet, sanitizable

(base in stainless steel)

Type 1

lsve

2 120 Prart. 110

Spindle measures in mm  Spindle and base in stainless steel AlSI 304

Black Blue Ral 5005 VL
ad A H  Wrench BEINGIMELE anti-slip pad WEMEIELE static load
Code Code Code (N)
M12x1,75 109 70 17 110/83574  110/85949  110/88260 17000
M14x2 148 108 12 110/83575 110/85950  110/88261
102 58 13 110/83576  110/85951  110/88262
M16:2 163 119 13 110/83577  110/85952  110/88263 -
189 145 13 110/83578  110/85953  110/88264 -
245 201 13 110/83579  110/85954  110/88265
M18x25 201 157 15  110/83580  110/85955 110/88266
135 8 17 110/87343  110/87344  110/88267
153 107 17 110/83581  110/85956  110/88268
182 136 17 110/83582  110/85957  110/88269
MO@5 503 157 17 110/83583 110785958 110/8g270 SO
236 190 17 110/83584  110/85959  110/88271
284 238 17 110/83585  110/85960  110/88272
13990 19 110/83586  110/85%61 ~ 110/88273 Base material: Internal part made of reinforced polyamide; external cov-
M24x3 176 12719 110/83587  110/85%2  110/88274 ering made of stainless steel AISI 304; anti-slip pad made of thermoplastic
21116219 110/83588  110/85963  110/88275 rubber 68 Shore black, white or blue Ral 5005 colour.
250 201 19 110/83589  110/85964  110/88276 Box quantity: 8 pieces.
M30x3,5 M S s W Features: Co-moulded anti-slip pad allows a perfect adherence with steel
234 18 24 110/83591 _ 110/85966 _ 110/88278 base. Consequent absence of internal cavities makes foot extremely cleana-
ble. The threaded insert guarantees the protection of the spindle thread.
Feet with M12 spindle diameter are supplied with hexagonal adjustment for 17 mm. wrench.
Washers UNI 6592-69 - Box quantity: 24 pieces. Nuts UNI 5588-65 - Box quantity: 24 pieces.
. oM M12[M14 [M16 [M20 [M24 [ M30 . od M12] M14]M16 [ M20 [ M24 ] M30
())2]<| [smm 25|25 3 [ 3 [ 414 ODzRIS| [smm 10 [ 11 [ 13 [16 [ 19 | 24
T gAmm 24 | 28 | 30 [ 37 | 44 | 56 * |Ch.mm 19 [ 22 | 24 [ 30 | 36 | 46
% Stainless steel codes| 7287|7288 | 7291|7292 7294|7296 Stainless steel codes] 7273|7274 7277727817280 7282
On request

Box quantity: Not standard.
Assembling of: Nuts ¢ washers.

Spindles with: Sunk hexagon head e second wrench seat head

hexagon wrench seat e threads with other pitches and lengths e stainless steel AISI 316.

F__——gl_;\;\; ’

Wrench 1
2 30

Section B

Type 2

Spindle measures in mm

Spindle and base in stainless steel AlSI 304

Wrench  Wrench _Bla_ck Blug R?' 5005 Max
ad A H F E G : 5 FINGITERM anti-slip pad IEIEINELMN static load
Code Code Code (N)
Mi6x2 2000 159 73 39 60 22 12 110/88048  110/88050  110/88279
260 220 100 78 100 22 12 110/88049  110/88051  110/88280
200 159 73 39 60 25 13 110/84136  110/85967  110/88281
MIRS 260 220 100 78 100 25 13 110/84195 110/85968  110/88282 000
V243 2000 159 73 39 60 30 17 110/88052  110/88054  110/88283
260 220 100 78 100 30 17 110/88053  110/88055  110/88284

teCom

Technology Components

277




’ Supporting and levelling components

@W@ Adjustable feet, sanitizable

(base in stainless steel)

Type 1

Part. 126 (0] 150 Type1 6/:’2’;‘1\'6 Spindle measures in mm Spindle and base in stainless steel AlSI 304
Black BlueRa|5005 Max
ad A H  Wrench JERORIERE anti-slip pad EENESINELMN static load
T Code Code Code N)
< 139 89 17  126/87345 126/87346  126/88285
, 157 107 17  126/86037 126/86042  126/88286
rench . Voo s 186 136 17 126/86038  126/86043  126/88287
' el vol V07 157 17 126/86039  126/86044  126/88288
. 240 190 17 126/86040  126/86045  126/88289
. 2150 J 283 238 17 126/86041 126/86046 126/88290
W 145 90 19  126/86052  126/86056  126/88291
\pag 182 127 19 126/86053  126/86057  126/88292
217 162 19 126/86054  126/86058  126/88293
257 202 19 126/86055  126/86059  126/88294
V3035 72 125 24 126/86060 126/86062  126/88295

232 185 24 126 /86061  126/86063  126/88296

Base material: Internal part made of reinforced polyamide; external covering made of stainless steel AlSI 304; anti-slip pad made of thermoplastic rubber 68
Shore black, white or blue Ral 5005 colour.

Box quantity: 8 pieces.

Features: Co-moulded anti-slip pad allows a perfect adherence with steel base. Consequent absence of internal cavities makes foot extremely cleanable. The
threaded insert guarantees the protection of the spindle thread.

Washers UNI 6592-69 - Box quantity: 24 pieces. Nuts UNI 5588-65 - Box quantity: 24 pieces.
F oM M20 | M24 | M30 T |ed M20 | M24 | M30
(H)JEl<| [smm 3 4] 4 5 Smm 16 [ 19 | 24
gAmm 37 | 44 | 56 r |Ch.mm 30 | 36 | 46
~ |Stainless steel codes| 7292|7294 (7296 Stainless steel codes| 7278 (7280 {7282
(%)
—_—
T
On request

« Spindles with: Sunk hexagon head ® second wrench seat head ¢ hexagon wrench seat ® threads with other pitches and lengths e stainless steel AISI 316.
« Box quantity: Not standard.
« Assembling of: Nuts e washers.

Section B

Wrench 2

218
Section C

Type 2
Spindle measures in mm Spindle and base in stainless steel AlSI 304
Black White Blue Ral 5005 Max
ed A H F E G Wrﬁ”‘h Wrezmh anti-slip pad antislip pad IREITA0EN

Code Code Code (N)

204 159 73 39 60 22 12 126/88056  126/88058  126/88297
264 220 100 78 100 22 12 126 /88057  126/88059  126/88298

M20K2 5 204 159 73 39 60 25 13 126/86047  126/86049  126/88299 40000
T 264 220 100 78 100 25 13 126/86048  126/86050  126/88300
204 159 73 39 60 30 17 126/88060  126/88062  126/88301

264 220 100 78 100 30 17 126/88061  126/88063  126/88302

M16x2

M24x3

teCom

Technology Components




